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Rules of The Game

The rules for a 9x9 Sudoku puzzle are straightforward:
1.The puzzle consists of a 9x9 grid, which is subdivided into
nine 3x3 subgrids (referred to as "regions" or "boxes").
2.0bjective: The goal is to fill the grid so that every row,
every column, and every 3x3 subgrid contains the digits
from 1 to 9 without repetition.
3. The puzzle starts with some numbers already filled in.
4.No Repeats:
o Rows: Each row must contain the digits 1 to 9 without
any repetition.
o Columns: Each column must also contain the digits 1 to
9 without any repetition.
o Subgrids: Each of the nine 3x3 subgrids must contain
the digits 1 to 9 without any repetition.
o
The challenge lies in deducing the position of each digit based
on the given numbers and the constraints of rows, columns,

and subgrids.
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Solution 1-8
PAGE 1
Sudoku #1 Sudoku #2
3 9 7 g9 5
711]6]8 9| |3 4/3|6| |7
3|6 6|8/ [2/1]9
2] 113 ale| [1
] 35| |8] 9] |61
6|7 5/9| |3 6 3
36 1 835 [9]4
4| |2 718195 |9| |6]|2]|5
8 5 2| |7 6/1]|5
Sudoku #3 Sudoku #4
2 T1T T8 |7 3] Ta] T8 2
8l4]7]2 6 216 [7]/4] |9
7/5(2 7 6 8
713 26|45 7|2 )
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Solution 1-8
PAGE 2
Sudoku #5 Sudoku #6
19 5/ 18| [7] 9 8 3
2 6| (3/8[1] |9| [5/4] |9/3 1
8 7| |4 2 4
9 6| [4]5 1] [8/26
34| |8 6] [1]7 6 '3
2 1 8 92| |6 41
4| |8 11 |9 3
7 3l9/2] |65 5/8/ 6] (109
6 2 8 3| |63 2 |8
Sudoku #7 Sudoku #8
5[3]2 8 65 4
3|8/7|5 7 43
8 7/1| |6 3/ [8] [9] 15
4 1] T2]9] |7 4 17 |2
6/ [9] 8] |5 2 |7 1] |9
3. 9|7 |4 8 8| |6 7
1] |5/8]6 4170 127 T1] Te
54 73] | 8/6(a4]3
8 2|4 9 86 1
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